
FmBTRffinllm,FTrtB
4jq I\-)

ar-<-flfqoffiq< q-qr

fr{RqrTELrK u1rYffi q-{-, q-r<r-{'E

.--------EIfu{ aKs <.E-Eq qfiom 
r

qraqrflfusaN g

<6{m qrift e

fr{rRffEtl< flqK <l-<H-<s qn$m Bqr ARa \e rffi 8

+ ffi €fflr"R s"|R"t- q.:is qt'F|< fltE qffi a;6ptr fuqq rc-sa =
qffi"ftvs q.{T crc{lql-3

ftH frFIE 1rq-{ {rffi{ qRfu 
"tc-qt' 

aicl-fi s-<-cs qr:q c

B T * 2G1s,26+ 3Grs-rr +4Gr:-r+ * 5G11_12

G'fP:_ + +M
100 l0

G'rP = frftks qfirq mtD qRfu "trsf r

B = frftRsgrfre{qTsT{ cqsq I

1= offifrni<ffiTlqr-T ffibufofr-o[q1{m r

Grr-:o = fiEtr CSFI )b-\5{ G{g € {oE{'6E1-s D-rcR-+-ftfl(IlC I

Grs-r= GEq 6S-{ )AE{ (,AV s )18{ 6flrU Ul-$fr-arAg am I

Gr:.r+ = C<s{ ffiE )ev{ 6$s s )8ET cqfs utnfr-+tcq{ ${ r

Grr-rz= Gsi m{ ))sr 6Av s )q\o{ cqfsslffiRffr{6-Efr-6-5a6qa I

M -k{l.ks'qq{ rffiqlr<rr{-s-rft-{q-{]"a t(T$q4qqmq[Eqr$Tft-rq-d] c "rB16 r

q[r{'qr{{ stfr+ c

v-qEIR{ e

frstv.nrff a

+

elfi-<qIT
RGw "trq' red<s qn+rs ql-:r+rq frc{q/fu ffisr* q-dlfdl' qHK"r RFr

Tm-{m ({fr a[m)
qc$

(trrR{)
"fu

(utRel)

qnB.sm

({rq.)

qrE
(E.Ifr<r)

lfr
(ErRer)

$IB-SIE
(IT{)


